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Q.1. Who is known as "the first empire builder of Indian history"?
A. Kalashoka

B. Mahapadma

C. Shishunaga

D. Nag-Dasak

Q.2. Who won gold in the 2023 ISSF Shooting World Cup for India?
A. Rudrankksh Patil

B. Jitu Rai

C. Abhinav Bindra

D. R Narmada Nithin

Q.3. Which scheme has been announced for traditional artisans and craftsmen in
the budget 2023-24?

A. PM-VIKAS

B. PMKVY

C. PMVKS

D. MSMEs

Q.4. Select the correct pair:

A. Ellora Caves — Rastrakuta Rulers
B. Mahabalipuram —Chandellas

C. Khajuraho-Mauyra Era

D. Elephanta Caves-Pallava Rulers
Q.5. Who has become the first female President of Slovenia?
A. Andrej Plenkovic

B. Zoran Milanovic

C. Natasa Pirc Musar

D. Borut Pahor



Q.6. Which instant messaging mobile application was launched by Google?

A. Google Messenger

B. Google Hangouts

C. Google Chat

D. Google Allo

Q.7. Which sport is associated with the terms "Relay," "Track," and "Hurdles"?
A. Athletics

B. Badminton

C. Baseball

D. Chess

Q.8. Which state is associated with the folk dance form "Chhau," known for its
masked performances and martial art-like movements?

A. Odisha

B. West Bengal

C. Assam

D. Jammu and Kashmir

Q.9. Which of the following is not an Indian folk dance ?
A. Bihu

B. Bhangara

C. Garba

D. Mohiniattam

Q.10. Which scheme is launched by the government of India under ‘Reaching The
Last Mile- Leaving No Citizen Behind’?

A. Green Credit Programme
B. Aspirational District Programme
C. Pradhan Mantri PVTG Mission

D. Pharma Innovation Programme



Answer Key

1. (B), 2. (D), 3. (A), 4. (A), 5. (C), 6. (D), 7. (A), 8. (B), 9. (D), 10. (C)
Q1: Explanation

Option 2 is the correct answer
Q2: Explanation

Option 4 is the correct answer.
Q3: Explanation

Option 1 is the correct answer.
Q4: Explanation

Option 1 is the correct answer.
Q5: Explanation

Option 3 is the correct answer.
Q6: Explanation

Option 4 is the correct answer.
Q7: Explanation

Option 1 is the correct answer.
Q8: Explanation

Option 2 is the correct answer.
Q9: Explanation

Option 4 is the correct answer.
Q10: Explanation

Option 3 is the correct answer.



